19.05 –  2 пара вся группа
Тема урока «Сослагательное наклонение.  Инновации  в науке и технике».
Цель – отработка грамматических  знаний по теме «Сослагательное наклонение», отработка лексических навыков по теме «Scientific achievements».      
Задание 1 . Переведите текст письменно.
                                             Achievеments in Science and Technology
Nuclear Power 
· nuclear age — ядерная эпоха
· devastating weapons — оружие массового поражения
The 20-th century is called the nuclear age. It’s due to the fact that the man learned to use the power of the atom. He created the most devastating weapon in history and now the stores of A-bombs and H-bombs threaten the existence of the whole planet.
Space Exploration
· be based on — быть основанным
· penetrate into — проникнуть в
The exploration of space is based on high technologies which cost a lot of money. However, flights into outer space allow man to penetrate into new spheres of unpredictable discoveries.
Achievements in Medicine and Biology
· overpower — одолеть
· incurable diseases — неизлечимые заболевания
· cell — клетка
· genetic engineering — генная инженерия
· cloning — клонирование
Dozens of incurable diseases have been overpowered. The man has penetrated inside the cell and such branch of science as genetic engineering is doing wonders nowadays. However its results are sometimes scary, for example cloning. It has caused heated arguments because of its moral side.
Задание 2 . Раскройте скобки, используя сослагательное наклонение 0 типа.
1. When my sister … (come) to town we … (go) to the cinema together. 
2. If you … (stay) longer, you … (meet) my parents.
3. If she … (not eat) so much, she … (be) slimmer.
4. If my kids … (run) in the playground they … (become) very thirsty.
5. What … you … (do) if you …(lose) your key?
6. If I … (have) free time now I … (watch) my favourite film. 
7. His job … (be) so hard if he … (not have) a secretary.
8. If mother (to buy) a cake we always (to have) tea.
9. When they (to go) to school parents (to be) happy.
10. They . . . (miss) the train if they … (not run).
Задание 3 . Раскройте скобки, используя сослагательное наклонение 0 типа.
1. She … (be) angry if you … (lose) this photo.
2. They . . . (miss) the train if they … (not run).
3.  If you … (not smoke) so much you … (not be) in hospital.
4. If my friend (to come) to meet me I (to be) very glad.
5. If mother (to buy) a cake we always (to have) tea.
6. When they (to go) to school parents (to be) happy.
7.  He … (be) nervous when he (to do) his reports.
8. If my kids … (run) in the playground they … (become) very thirsty.
9. What … you … (do) if you …(lose) your key?
10. If you … (stay) longer, you … (meet) my parents.

Контрольные вопросы
1. Дайте определение сослагательному наклонению.
[bookmark: _GoBack]2. Когда употребляется условные предложения 0 типа?

